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| gather sand a semicircle cone.

Next, | measure the size of the base of semicircle cone around.
1jy085haku’ height gshaku gsun,

This volume how to find is square the base of semicircle cone and
multiply height.

This answer is 18852.

It divides 6m.

This answer is about 140000.

Next, it divides 64827.

This is zogoku 210 Gshou ggou zshaku.

How to solve squaring it and , multiply height.

This answer is 9426.

Next, one forth of semicircle cone volume from semicircle cone .
It,s about 60600.

Next , it devided by 64827.

|t,S ggaku 3to 5shou sseki.

There is sand collected in outer angle.
| make the height of applying the square of the lower circumference.
It | divided by 208278.

It | divided by 64827.

3 of the volume of the cone 4 minutes, | can see.
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R=360-+2m

r=>57

To know the semi corns volume, T Xr2xh=+3

If we do its why to find

=285,796

This is a corns volume. We want to know the semi corns volume.
Therefore ,The corns volume=2.

Then semi corns volume is found

The answer is 142,898

But this is a unit of Tubo. We must exchange for unit of Goku.
Therefore ,unit of Tubo+—64827

The answer is 2.2043...
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With this Native mathematics of Japan Dh, <EOL\?Fuﬁféﬁ1’ﬁ3f21’:0)7ﬁ%‘$"—if:?§ 5| FH

book, | demanded it using the ZTL =, AEMNESVSEFELRONMTREICE RUBERELEE

stone method in the same way as nappe. WLz, Mitate Sanpou Kiku

SHORE ) It was the class that was able to learn what kind
MEOEBEEREEHMADNNOTLESTDT  of problem you made how old
ARL—XIfFITHEIITLILY, people deciphered mathematics.

When | solve a problem of Japan, it wants to
come loose smoothly because
it has taken time.
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